
Know it: Read the texts twice. 
Summarise the events of the texts in 3 
bullet points each.

Grasp it: Read the texts twice.
Summarise the events of the text in 5 
bullet points each.

Think it: Read the texts twice.
On your third reading, start to 
compare the two texts and the 
presentation of tightrope walkers. 

DO IT NOW

COMPLETE IN SILENCE PLEASE



To secure understanding by

decoding the main ideas in a 

text. 

To develop knowledge through 

tracing ideas in a text using 

reading strategies. 

To achieve excellence through

insights into character and 

writer’s methods. 

Big Question: Can I decode and engage with ideas in a text? 

Tier 2:
Stupendous: extremely impressive. 

Precariously:  in a way that is not securely in 
position and is likely to fall or collapse.

Tier 3:

Synthesis 
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Look at the marks awarded for 
each question.





Question 1.1
• Worth 3 marks and you should spend 4 minutes answering the question.
• Read the information above the question really carefully.
• You simply need to find the answers to the three questions they give you. 
• The question is testing you ability to identify explicit information. .
• All answers must be written in sentences.
• If you include quotations, you cannot quote for the entirety of your answer. 

This question is 
testing your ability to 

identify explicit 
information. 



AO2 the ability to explain, comment on and analyse how writers use language to achieve effects and influence readers, using 
relevant subject terminology where appropriate. 

10 marks
10-12 minutes

• Track the text carefully in order and highlight key words/commands/focus of the question. 
• Write an ‘overview’ sentence at the start of your long paragraph 
• Prove the overview point with 8-9 embedded quotations and brief analysis of what each shows. (So lots of Evidence 

and Analysis points only)
• Two of these should be analysed or zoomed in on. 
• Use subject terminology if it is appropriate. 

COMMENT EVIDENCE EXPLAIN 

Question 1.2





I do





Using the model response
Create a success criteria for this question





Question 1.3
• Worth 3 marks and you should spend 4 minutes answering the question.
• Read the information above the question really carefully.
• You simply need to find the answers to the three questions they give you. 
• The question is testing you ability to identify explicit information. .
• All answers must be written in sentences.
• If you include quotations, you cannot quote for the entirety of your answer. 

This question is 
testing your ability to 

identify explicit 
information. 



AO4: This question tests the ability to evaluate texts critically and support this with appropriate textual reference. 
10 marks
10-12 minutes

• Track the text carefully in order and highlight key words/commands/focus of the question. 
• Write an ‘overview’ sentence at the start of your long paragraph. Decide where you fully agree, fully disagree or see 

different sides. 
• Prove the overview point with 8-9 embedded quotations and brief analysis of what each shows. (So lots of Evidence 

and Analysis points only)
• Two of these should be analysed or zoomed in on. 
• Use subject terminology if it is appropriate. 
• TOP TIPS – This is the ‘evaluation question’ but remember that all this means is that you give your opinions on the 

given statement with relevant supporting evidence

COMMENT EVIDENCE EXPLAIN 

Question 1.4









Decide as a class a WWW and an EBI.
WWW:
EBI:





Question 1.5
4 marks
5-6 minutes

• This question tests the ability to select and synthesise evidence from different texts. 
• Skim the passage with the question focus in mind
• Highlight 2-3 things from each text that will help you answer the question. 
• You will need 4 pieces of relevant and clear information in order to gain full marls. 



AO3: This question tests the ability to compare writers’ ideas and perspectives, as well as how these are conveyed across the
two texts. 

10 marks
10-12 minutes

• Track the text carefully in order and highlight key words/commands/focus of the question. 
• Write an ‘overview’ sentence at the start of your long paragraph. Comparison of the content is relevant and clear 

and both texts are referred to. Prove the overview point with 4 embedded quotations and brief analysis of what 
each shows (from each text) Two of these should be analysed or zoomed in on. 

• Use subject terminology if it is appropriate. 
• TOP TIPS – Use the bullet points to help structure your response. To access higher marks you will need to look at 

‘how’ as well as ‘what’.

Question 1.6





How do I tackle question Q1.6?

Both the `Penny Review` and the Chilean mining article finish with the miners being rescued. 

This creates a sense of drama as the rest of the texts build up tension and anticipation for their 

rescue.  However, in the Chilean article the day of the rescue is also mentioned at the 

beginning: the “scenes of jubilation erupted” as the miners were rescued. This dramatic verb 

`erupted` portrays the excitement and intense relief from the crowd of family and onlookers as 

the rescued miners “cried”, “prayed” and “wrapped their arms around their wives and children”, 

creating a sense of drama. In the `Penny Review`, the writer does not use the reaction of the 

crowd after the rescue to create drama but instead builds up the description of the “increased 

activity” before the rescue and leading to it. The writer creates drama by creating a new sense 

of hope for the people digging to the trapped miners.

Both articles describe the rescue day with a similar tone of amazement and admiration but also 

relief. The `Penny Review` mentions how, on the morning of the rescue day, “a rumour spread” 

that the men were alive. This creates a build up of anticipation for the reader as the noun 

`rumour` creates a sense of uncertainty. In the Chile article the onlookers’ emotions are also 

described. There is a greater sense of relief in the Chile article as “onlookers sobbed” as they 

were overwhelmed by the day of the rescue. This intense emotion creates drama for the day, 

especially as the president of the country, President Pinera, is at the mine to greet the men. 

Furthermore, the pride is felt by the country as in the nearby town the people celebrated and 

chanted, “Chile! Chile! Chile!” which suggests they feel a huge sense of relief. The writer uses 

this to capture a sense of the drama of the day. In this way, both articles use tension/emotion to 

create a sense of drama for the day.

WAGOLL



Writing a response together 




